Before you start:

Have a go at these:
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a) 826 - 10 b) 1531 <+ 100 c) 1253 = 1000 d) 5.03 = 10

6. Muliplication
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NOW have a go ... fthe answer isn't in the answer box ... Try again!)

1. 56 x 5 2. 56 x8 3. 560 x 8
4. 72 x 45 5.72 x 54 6. 54 x 45
7.83 x 33 8. 24 x 23 9. 43 x 64
1. 46 x 427 2. 233 x41 3. 58 x 943
4. 853 x 38 5. 14 x 237 6. 103 x 92
7. 281 x 79 8. 371 x93 9. 893 x 231

. 3126 x 31 2. 6506 x 92 3. 6544 x 43
. 67 x 481 5. 4820 x 82 6. 8269 x 41
. 59 x 7878 8. 4867 x 19 9. 29 x 8080

A concert hall has 94 rows of seats. Each roll has 47 seats.
How many seats in total?

A hotel charges £129 for a double room for 1 night. What is
the cost for 14 nights?

A train travels 1821 km a day. How far does it travel in 84
days?

4480 464 802 96906 2739 4418 3888
2430 9553 234320 3318 395240 19642

339029 152964 22199 280 552 598 552
1806 448 54694 281392 32227 32414
9476 92473 34503 \n 3240
2752 206 283 —ﬁ’ ANSWERS
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